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SR QI Yferd el we wraAfer e

reft ArTRes giete Te Teft Wl s
m@aﬂﬁﬂ?ﬁuﬁm
ferRad udielr oht UTeashA

HH. CLE) ITferhan 3k

1 | = J=

2 | = =< ,
300 3i®

3 | GEATHeR Ud WHTaeh Saar udter
4 | wtees stfisfa when/gafgeatey wem/atfehe aian

1. | A
SR, ST, TAeR0T Ud 0T, &9 el 91 9Rd &1 e ST Wihfas e, 3.
Fr foren depfa i i yeslt & Ty § fafyr s, 3.9 wo, gferw 9 s
T, TP 91 SRS Wea & SHumie fqug, T o siauya 9, femgiet
3N TGB! J91, EH FIFH, 9% T R, [EhR 3N G, 39T/ geTd, Heeqof
fee, SFHuM @ @, T5% 3R 3% @, W Wi FRyfhe |
2. T fet
1. &t iR o wdim 9w, 2. Red s & owifes §e- R avfaren, dwe-aem,
T, fodm, sTwes, aFel & WH W UH R, THEUl EdE v, TS Al &
form-fo, ek W@ AIedl, ™, B, TSR IMfe, 3. Iafed ag, 4. WHE FH, d@s @
It AEE T, S. =l o § qER, 6. faferen
3. U Ud HEieh Jraar aian

(h) HEATHSR RIS THeT-H& USfd-Number System, SEHUT-Simplification, S¥HA R
¥ 9-Decimals and Fraction, HgdH gHqEdes 3 CTE[H j\:I'FITCIEFTEB-Highest common factor and
lowest common multiple, 3T4Id 3R HHIUIG-Ratio and Proportion, SfdeIadl-Percentage, T4
3R &H-Profit and Loss, B<-Discount, HENUT JTS-Simple interest, W@ I1ST-Compound
interest, ﬂFﬂE’Iﬁ-Partnership, ?ﬂhﬁ-Average, T 3R HTd-Time and Work, 993 3ﬁT {\P[-Time
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and Distance, grofl 3R TME 1 FAM-Use of Tables and Graphs, HT\EL%S'H-Menstruation,
RO 0T F = fIveiTucHs HE-Arithmetical computations and other analytical
functions, fafaer-Miscellaneous |

£C)) L1615 C O IR G Tdier- difeheh W—Logical Diagrams, Geoha-Tay ﬁ'&‘ﬁqﬂT-Symbol-
Relationship Interpretation, &l T aFf‘é?f-Perception Test, ¥sa T T&UT-Word formation
Test, 3H&X 3N g ’ﬂ"@Fﬂ-Letter and number series, ¥ FR auiarenr § iy SHETA-
Word and alphabet Analogy, SATIgIRE A T{&UT-Common Sense Test, a3 I w{iequr-
Direction Sense Test, 3RS difeheh ﬁ'ﬁﬁﬁlﬂT—Logical interpretation of data, T deh-
Forcefulness of argument, fafdfed et @1 fafrga $hIAT-Determining implied meanings |

4-ufaes AfTRla wdan afgafer adian/difcher adterm

(%) HTATHeR AfTerr udien- f=fefad % ufq ?{@Tﬁ'ﬂT-Attitude towards the following: SHfgd-
Public Interest, &hld Eaf IMifd SFFET-Law and order, rEr¥eh Ts81a-Communal harmony,
AW fR=EU-Crime Control, fof¥ &1 ¥EF-Rule of law, 3TIHed i &Hd-Ability of
Adaptability, SATEEIS AT (%fﬁlﬁﬁ TR ®)-Professional Information (Basic level), E%H
JUTleit-Police System, R gﬁw Hﬁ LG I SFG¥IT-Contemporary Police Issues & Law
and order, SIIHT % 9fd &f-Interest in Profession, A& ggdl-Mental toughness, TG ThI
& 3 SR % iy ﬁé&'ﬂ?ﬂﬂﬁT—Sensitivity towards minorities and underprivileged,
Afieh HagTefeId-Gender sensitivity |

(@) Afegerfeer ufierr- @ 9 3if¥e GHE qdefvT-Relationship and Analog Test, 37U ol

fafegd SET-Spotting out the dissimilar, SECol) {vﬁ F T GUeI0T-Series Completion Test, Tohd
fafy 3K wichfaes foafd HHHAT-Coding and Decoding Test, e I T’IT-Direction Sense
Test, Tth HHI¥-Blood Relation, UIHTAT T 3T I99-Problem based on alphabet, §HI-hH
T{&IUT-Time sequence Test, I M@ AW =R BER T{eIUT-Venn Diagram and chart type test,
T AT 9eTuT-Mathematical ability Test, shH ¥ argd $hIAT-Arranging in order |

(&) Atfehen Qi@!- HHEYd-Analogies, HHIAA-Similarities, ﬁ:ﬁT'IT-Differences, Qe M 9 -
Space visualization, HHET H HAATT-Problem solving, fergetsoT ﬁ'“'f'q-Analysis judgement,
o &AT-Decision making, 33 Hﬁ-Visual memory, [EREC] &HdAT-Discrimination,
tI'afa?él'UT-Observation, HHYg-Relationship, TENUT-Concepts, RO deh-Arithmetical
reasoning, ¥ 3R m FTehLUT-Verbal and figure classification, FHOTE & ‘ﬂ"@?’ﬂ-
Arithmetical number series, 3T‘Irf foaml @ wdienl qom 3 Tl ¥ WHST i edT-Abilities

to deal with abstract ideas and symbols and their relationships |
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IR YIT YfoTd hiess ( Iy qigar ) uiet, 2023
SITE Aigd g Jv=-us ()

[Exam Date : 18-02-2024 Shift-1)

1. Which of the following diagrams best indicate
the relation between Intelligence, Anxiety and
Strength?
freafafaa & @ & @1 oM@ gfeg, foiam siv
IR o Ste WAL ol Had 3Test a9 quidl &2

O
(a) (b) O O
(©) @) C)

Ans. (b) : JTIER, 3 3R@ Fre 2-
s

Fet: e (b) 9o 3r=s1 Haiy &giiar &1
2. Solve/&e &
2x6-12+4+2=27
(a) 12
(c) 11
Ans. (¢) : T ™ T 9,
2x6-12+4+2
=2%x6-3+2
=14-3=11
3. S is taller than A and R is taller than C but

shorter than V. S is shorter than C, so who is
the tallest among them?

SAATMEINITR CHA TS, AfRT V H
BRI S, CH BT &, A 3T80 ¥ Ta@ o«
HT 8?2

(b) 10
) 9

4. Study the following figure and answer the

question given below

frraferfaa emefa w1 ream &t 3i Hrer fau

T YIF HT IR <
& :I—-—b Married People @ @
O —p People who live in joint family/
R HeeF YA H T A

P A — School teachers 53 fomrr

By which letter, the people who live in joint
family but are neither married nor teachers are
represented?

HF T I W IT AN @l qINAT ST § W
WYk URER ¥ Tgd § AferT 7 faafea € i
= €t foreren &2

(a) S (b) R
() Q (T
Ans. (d) : &7 T 39 Rw T-

3 WY g % T S A bl gviiar 8 S G qRar #
T € Afeh 7 A farfea @ 7 & frer

(@) V (b) C
(c) R (d) S
Ans. (a) : TIER, TS &1 HA-
IMAER,
S>A ... @)
V>R>C . (ii)
C>S (iif)
Tt (i), (i) 7 (iii) T,
V>R>C>S>A
3: TF 2 5 V S99 o g

7: fahed (d) & 21
5. In the following question, a word has been
given, followed by four other words, one of
which cannot be formed using the letters of the
given word. Find that word.

freafafaa o o, us viee foon o §, 9%
g =W I wieg fau €, fe @ uw Ry
T 162 o A T SUANT shieh A&l ST AT
HehaTl ¥ 9 76T AT i

APPLICATION
(a) POLONIA
(c) OPTICAL

(b) POINT
(d) ANTIC




Ans. (a) : T TT & APPLICATION ¥ W 3%eRI §
POLONIA ¥Is3 & a1 S Tebal @ i agf 'O' &
YA & SR g3 2

3a: fohed (a) 9ET 21

6. A cuboid shaped wooden block has 6 cm
length, 4 cm breadth and 1 cm height. Two
faces measuring 4 cm x 1 cm are coloured in
black. Two faces measuring 6 cm X 1 c¢m are
coloured in red. Two faces measuring 6 cm X 4
cm are coloured in green. The block is divided
into 6 equal cubes of side 1 cm (from 6 cm
side), 4 equal cubes of side 1 cm (from 4 cm
side).

How many cubes will remain if the cubes
having black and green colored are removed?

Teh UATRR RSl o ScAleh ohl @iols 6 W,
wireE 4 At i womg 1wt ¥ 4 At x 1
At 7T AT S HeTek it W @ [ W E) 6
qft x 1 At WT T @ HeAw A T H A

T g1 6 Wt x 4 QY WG ATt I edesw B AT
T {1 T §1 AR w1 W ST A 6 IR
o (6 ft o= @), 1 Wl ST A 4 TR
U (4 At e /) ¥ el femam w1
i et 3R T T et o=t ger foamr sy
At fRa o= 9w wA?
(a) 16 (b) 8
(c) 12 (d) 4
Ans. (a) : TI9 & THFR & ARSI & salh § A H P
e = 24
Wy &Y ¥ o § o9 F I iR e Gas # &
G T @ SR g o Al iR i Gl i el T
T 1 T g1 AR Fe iR R 1 A s H ger faan
ST, @ WY €9 § F2C N HH H pot S § B
3T VY ST A G =24 -8 =16
Red

'
7 e
3

o
FE
()

Q'

v/

7. A puzzle enthusiast is trying to remember a
code to unlock a mysterious box. He recalls the
following details.

T URell SCHTE! Ueh W (o ohl @i oh
1T U IS I 1 HA H AT T @ 2
g frmaferfae faamor arg wear € -

lem

e

Red
€« Hhem—>

o
.

The code starts with 3/ TI€ 3 ¥ I[& &l K]
2. The code ends with 729
T 729 W HATA BT B
. The second digit is twice the first digit.
TE 3k UES 37k T ST 2
4. The third digit is half of the second digit.
T 3feh gAY 37k T ITENT R
Now, considering these conditions, the

enthusiast has narrowed down four potential
codes for the mysterious box. Find the suitable

one/3Ts, 37 feorfeal WX faem &a gq, Scamdt
I EEUY e & fu wR duifaa wig
freenfiia frg &1 SUgeh =T U T
(a) 342729 (b) 336729
(c) 363729 (d) 324729

Ans. (¢) : TEER, & T w6l % FER e (o) § &

T WA 363729 Tt VAT HI QU B 2

ar: fahed (o) e B

8. In the question below three statements followed
by two conclusions numbered I and II are
given. You have to assume everything in the
statements to be true, then consider the two
conclusions together and decide which of them

logically follows beyond a reasonable doubt
from the information given in the statements.

Hior g ® 9 wma iR S W 1 R I
huifeRa ar fehd few o €1 smoent et o &
3 |eft STt T AT §, TR S et
T Teh A1 forem & ¢ iR fouia o € foR
I W & G/ ¥ HwIE W ST AHwr o
3foa g ¥ W Alfeher T W TN hial/d
T/ &
Statements/ he:
I. Rabindranath Tagore wrote many poems.
TiATY 3T A 3k ey T
Every poet has asethetic knowledge.
T hid o U HigaicTeh J1 il ¢
Aesthetic is a part of axiological study.
i< Teafya STear= ot Wk ST &1
Conclusions/f-Tshe:

I. Rabindranath Tagore did different axiological

study/Adf=mrg 2R X fafs geenfya stesra=

forar 2

He followed the base of logic and ethics/3=1=

Tqeh 3T Aferehar & SR o1 urer= feRam

(a) Neither I nor II follows.
TR T & ST F 2

(b) Only conclusion II follows.

heret forepe 11 STEoT el 21

(5]

II.

I11.

II.




(c) Both I and II follow.
1 3 1T S SIeRoT & &)
(d) Only conclusion I follows.
sheret s 1 STaRoT el 2|
Ans. (d) : R T w9 § FEHER Faa fwd (1)
ST BT & |
ara: foheq (d) @& 21
9. Find out which of the figures (1), (2), (3) and (4)
can be formed from the pieces given in figure

(X)./aar e Tk ammeRfer (X) ® fow T gt ®
), (2), 3) 3T @) & & = & 3Rl T=E =
Hehdl B

Ans. (a) : T Ga¥ IRG s T,

A—>®\ O _

(—H

3T qafaazrﬁ@ﬁwéﬁm,ca%traﬂ%
12.

Choose the alternative which closely resembles
the mirror image of the given combination.

g foeheT g4 W feU g W= & gdur sfa
A I forerar-Serar 2n
REASONING

(a) DVIIVIOSATSA

(c) AFAZ0UIVID

(b) DUINO2ATA
(d) JEVZOUIVD

Ans. (b) : 3T T ¥1e2/3R T &1 0T BT IW foshed
U ﬂ 3 (b) T Ve33R TR T B
: ara: fahed (b) T 21
1) ) (3) (@) 13. Sel;).(/);% the ﬁgu%v;#l;;;s-éig:eglt from the
(@) 4 (®) (2)
© G) @ () Qﬁﬁgtgigﬁ{a
Ans. () : & TE W 3MHf (X) H THST areht Ml 9
S foey TP (3) T FHR F TR ST Tt B | ) 2 @G @ 5
o e (o) T 21 (a) (4) () @)
10. Find out from amongst the four alternatives as (ONE)) d M

to how the pattern would appear when the
transparent sheet is folded at the dotted line.

o faeredt o ¥ var omd foh uwesft sfie =r

ﬁg‘m%@wﬁgﬁwﬁﬁ‘é—mﬁ@é%ﬂl
5 Nl IRl T
Sa1oRERDRER
o @ @ O W
(@) 4) () (2)
) (3) (d) (D)
Ans. (d) : & T T 3P (X) B fogEr T W AR
T IR P (1) F Ted & &y fZ@E am|
a: fohed (d) & 21
11. A is B's brother. C is D's father. E is B's

mother. A and D are brothers. How is E related
to C?

A, BT 9 81 C, D &1 AT 31 E, B AT §1 A
3R D uE €1 E, C ¥ foh Wah Heifira &2

(a) Wife/get

(b) Sister-in-law/9T4ft

(c) Niece/Hrsit

(d) Sister/sg=

Ans. (d) : & T aTpfa § fRR i fawn A qwA § wWE
g 2 5 emgfa (1) § Al R B A Hu aur St
AR 1 sieg T 2, e o Tt erpfaal § emfy
(1) % fqada o emuw & waE e & &g 71

;- fased (d) 379 9 ft 21

14. There are twelve dozen of apples in a basket.
Two dozen are added later. Ten apples got
spoilt and are removed. The remaining are
transferred equally into two baskets. How
many are there in each?

Teh 2R | 9N Ioi A9 &1 & g5 &g o
WS 9§10 VS @ & M, v ger
T ¥ VW W S TeeREl W gEE ®T W
TTTaRa TR Srar €1y | foha €7

(a) 168 (b) 89

(c) 158 (d) 79

Ans. (d) : I¥ATER,

YEAE F TR F FA Hall b =12 x 12+2 % 12
=144 + 24 = 168

TE g el 1 e & a1 I et A e
=168 —10=158

amﬁwmaaaﬁaaqw:%:

79




15. A crate of mangoes contains one bruised
mango for every 30 mangoes in the crate. If 3
out of every 4 bruised mangoes are considered
unsalable, and there are 12 unsalable mangoes
in the crate, then who many mangoes are there

in the crate?

3T T Weh IRl | Yedieh 30 MWl o &1 Teh
TS AW TAT 21 A Tk 4 TS g 3 A
¥ 3 Wt faeht drer 9@ W S €, of SRl
# 12 o fast arg = €, O Sl § fRa

3w 272
(a) 480 (b) 320
(c) 420 (d) 240

Ans. (a) : TF 64 § AW S T = 30
TH T § T W Hf GE& = 1
79 ¥,
4 W gU A H F 3 1 g d 78 A o g,
Ftq 4 x 30 = 120 M ¥ T 4 T 79 R 3TH T 3
farsht @ = T S 2
I Il & 12 o1 skt A 7 ], orelq 16 TUw
Gufl
T Srd § STl & FA @ = 16 x 30

=480

16. Which of the following option would be
meaningful order of the following words?
freafafea & 9 & @ fawer e fag @
ITeET hT Wik S ERTT?

1. Birth/ST=1

2. Death/Jg

3. Funeral/3icfy

4. Marriage/&ﬁ!‘l{

5. Education/f¥1eT
(a) 4,5,3,1,2 (b) 1,5,4,2,3
(c) 2,3,4,5,1 (d) 1,3,4,5,2

Ans. (b) : T 7T vrd} 1 wrefeh %A 39 IHR 2

1. 9 — 5. R — 4. faer — 2. 59 — 3. 3i3fy
ara: fased (b) & 21

17.

According to Indian Constitution, Articles 14-
18 deals with which of the following rights?
aRdflg @ferm % ER, 3rgeed  14-18
frefafiaa & @ form srfrer | et 872
(a) Right to Constitutional Remedies

qifoentae ITERI 1 SARHER
(b) Right to Equality/HHdT 3T 3A[&ehR
(c) Right against Exploitation

T o foe SR
(d) Right to Freedom of Religion

g & A H ARER

Ans. (b) : TG UM % FIER, FIeHE-14-18 THA
1 SHER § wefem &1 wfaeE % -3 # eeE-12
¥ 35 T T Rl S e Sfeatfad €1 dfaem &
WMT-3 P 9RG F GEUE & TRl # g & T g
tifes R B eRET % dfawe ¥ famr w2
Hfer § Hifs s # gem 6 2-

o THAT FI HR —> =E-14 ¥ 18 TF|

o WA H AER —> FIB- 19 H 22 Tl

o IMYUT & foes SIFER —> IFIB- 23 ¥ 24 TF|

o ifife WA F AER — W< 25 T 28 TH|

o T qaT forem g AER — @I 29 ¥ 30
T® |

o T ITAR N SAFK —> T 32
18.

Which of the following days is celebrated as
"International Worker's Day"?

frrafafaa o @ s-ar fom ¢ eiaida siftes
feaw' & ® § 7T AT 87
(a) 31" December/31 faga
(b) 1 May/1 W%
(c) 25™ November/25 &R
(d) 16™ August/16 3TTET
Ans. (b) : 1 T I “iRfT s faw” & w9 §
TR S g1 AT afte feaw 2023 & -
“HNES GRT SN W G4 # i % faw
foreteRt e L
10 e - fove & faag
04 Hadl - fave e feew
24 W - favg e I (T.V) feaw
07 30 - fova w@reen feag
22 3 - fgva et feag
31 ¢ - darg oy faag
29 ¢ - Uty g feag
19.

Which of the following Acid is present in
Spinach?

frafaflas @ @ ®F-91 o7 Ulele § diNE
Frar 82

(a) Oxalic Acid/3fHifer Tfae

(b) Lactic Acid/@ifees Tfre

(¢) Citric Acid/fafes tfae

(d) Acetic Acid/THifes ufys

Ans. (a) : HIH e Tos § HSE T 1 T8 HE
dtdl # g S aTel U @i Al 81 59 qeEr
g, &, F, F9 SN A A

o 3FfTF A [UPAC T 3eHfSaIgh e 3
HO,C — CO,H % 91 TS leifeh 37 31




3T T ATH i

wHifew 37T li3eea)

HifHE 3T =it & <

TR o AT, SR

20. "Soldiering with Dignity" is the novel written

on which of the following Indian Military
Stalwart?

“arewtr fag fefimd! fafafaa & @ e
e e ¥ sifre W femr T
IU=TH 872
(a) PVC Capt. Vikram Batra

dieidt e fashm
(b) Field Marshal Sam Manekshaw

Hieg ARl 99 A
(c) Field Marshal K.M. Cariappa

Hieg AT o.TH. HR3ar
(d) CDS Bipin Rawat/dietty fafyq qad
Ans. (b) : “Hrwiin fqm BRFE wiee unfa @9
gﬁwﬁ (I g =1 Stfeeprd) W forar e U=y
|

AEh T

o TN 3TA FHAW férg 1% HRR

o foshy A3 2T arg, g TMeed e

o &Y T T g A% wd o,
S, GTeR qifafes

o AT T IIRH, sl HY

o T wET W, feame faeeq, 7
G ade

21. The responsibility of the regulatory and

administrative framework for corporates in
order to make them effective contributors to
national development falls under which of the
following Ministry of India?

TUREH &l T faehE § FHrel Aeehdt
T % fou e @iv womattes et @t
el awa & feafafies & | e dmes
& 3fata st &7
(a) Ministry of Co-operation/SgehIRdl HAe™
(b) Ministry of Planning/ RIECIRE P
(c) Ministry of Corporate Affairs
HIRE HHG P HACTd
(d) Ministry of Housing and Urban Affairs
a3 vl Ame 1 e
Ans. (¢) : FANE H T faw § gt el
A % o frame ok yemefs @ it Rred ard
TR & HURE el & HACH & Sdd S 2

22. The Physical Research Laboratory (Main

Campus) is situated at which of the following
places?

difes  orgEu™  yERTer  (YET URE)
frafeafaa o @ wel froa €7
(a) Mysuru/ﬁ{[ﬁ
(b) Pune/Tﬁ
(¢) Ahmedabad/ 3TEHIE
(d) Bengaluru/ sefe
Ans. (¢) : it HUH NI (T 9RWR)
FeueETE ¥ figd 2|
o YfishgaY FATTEE — TS
o AR FIIANT g —> TTHIAR, (TSIA)
o TYA ATgHEeHd S SETeIen —> feedfd, (3w
TIT)
o Wd WUIEA YT %x —> fawaddgw, A
FAleeh
o 9T AR faftes — S (FTew)
o FI A FTHUH FE —> Fh
o TFH T TS HEIM — HIFERI
23.

What is the contact number for Women Power
Line (WPL) in Uttar Pradesh?

I YeOT § AT UTeR A1 (TgUe )
foTT ek e o §7
(a) 1044 (b) 105
(c) 114 (d) 1090
Ans. (d) : 3T T § gEF g oA (S O TA) F
fere gueh e 1090 21
o IfTH Fid &1 — 100
o I I - 1095
o TETE AR — 1098
o TS 3T — 1930
24.

"Mamallapuram Utsav" is a festival of which
of the following states?/' ATHegH Icda '’

frrefefiaa o | fore =T T BN &7

(a) Gujarat/TSIId

(b) Tamil Naduw/dfHerTg
(c) Karnataka/&ieh
(d) Odisha/3fifE=m

Ans. (b) : “TIHCATH 30qa” TS, T5F &1 @ER 2|
o TSI & AHId —> SifSan, T, Hear
o FAlew H ABIA —> I, dH, gaaem

o IfEIN B AbIT —> B, IH JoA, A e,
™




25.  Which of the following expenditure is incurred

for purposes other than the creation of physical
or financial assets of the central Government?

frafafea @ 9 ®F-91 ==, &g GER @t

sifoes o focfrar gufwan & fmfo & seman

3= SevEl o forq femarm SraT €2

(a) Tax Expenditure/st =g

(b) Revenue Expenditure/Ts& T

(c) Capital Expenditurefclﬁﬂ"'ﬁ 2R

(d) Outcrossed Expenditure/3Tcf¥eh =531
Ans. (b) : TS =59, $% &R & difds a1 foxig
ol & fmior % stamr o 3R & foaw fHar S
21
26.

According to ancient Jain and Buddhist texts,
how many Mahajanapadas were there?

Ui S R dhg TOl % IgER, fRaw

TETSHUE &2

(a) Sixteen/TT (b) Twelve/dE

(©) Fourteen/=1eg (d) Ten/<H
Ans. (a) : T S R dtg ¥4 ¥ SHUR Hidw
HEISIE 9| S 3eoid dlE TY o SR frehr H qer
S g F TEd G H TESEIE H oo Mo 81 3
Y 8 TAEHTR FAHH ST R & § Hiee
1. 3%, 2. U, 3. YEEA, 4. T, 5. B, 6. Hed,
7. W, 8 =
27.

Which of the following is the highest ranking
Police Officer in the districts of Uttar Pradesh
(except Commissionerate)?

frafafeg & & &9 S wewr & fyen @
wefee T aTer g s § (R
& 3TEATaT )?

(a) DCP (Deputy Commissioner of Police)

St (I 3UTgh)
(b) PSI (Police Sub Inspector)
dregeTE (Yo ga-gwee)
(c) ACP (Assistant Commissioner of Police)

T (Feras Yferd 3Teh)
(d) SP (Superintendent of Police)

Tt (gfere stefterh)
Ans. (d) : T8, 4. (39 srefter) I wew & el §
Fafes Whm aret gfery sifeeprd § |
T s & -
o If¥ WEIFRY® (DGP)
o iR Ife™ weIHew® (ADGP)
o Jforg weIfless (IG)

o IRw YTy 37Hieh (SSP)

o T 37k (S.P)

o W YfeTq Eiiers (Addl. sp)

o T THUT (ASP) a1 fet wgdl (DSP)
28.

Which of the following crop is not a kharif

crop?

ﬁtrpi%af@?r ¥ ¥ & o wEe @i wt wEd

& §?

(a) Soyabean/FREH  (b) Groundnut/FTHEA

(c) Wheat/Tg (d) Maize/AeHT

Ans. (¢) : T8 3 %gd T% # 6O § T o 21 =@

W FEd Z| 9RG # g ¥ § 69 BEd I S

- =i, @ N SrE|

o TH® W ®"HA —> TEc], SR, SN, Hekhl, HUM,
IR, S, T, gedl, qA I |

o Tt F wES — T, M, "X, T, e, W,

T S

o TE W HHA —> TES, TN, TS, FFel, 4T,
358, e |

29. Which of the following port is the largest

container port of India?
frafafaa o & S9-9T1 SE0mE 9Rd 6T 96l
ST heT SATTE &7
(a) New Mangalore Port/<] HIAR sETe
(b) Kochi Port/aifed setmg
(c) Kandla Port/SiScll seUg
(d) Jawaharlal Nehru Port
SRR 8® TELTE
Ans. (d) : VAR TEE SRUME 9RA &1 o oS
HIT FEUTE 81 TH SEUIE B @ Al & AW § off
S S 21 A8 Ry % A o § §og & @ § oRe
TR F fod 81 9T % TE 3 GEOTR-
o FIAHM FATME (TIAM JH&E @S d80T8) — dfvam
ERIE]
U T FETTe- e
HATS T TR See- afHers
TS TR - M
o FHScl deUTE (4 AT SEUTE)- TN

30. Mohandas Karamchand Gandhi called off the
Non-Co-operation Movement in 1922, due to
which of the following incident?

frefefiaa § @ fvE ear & &RUT, Higaew
wTAeiE Tieft T 1922 H STEEANT IS i

o gforg sumaIiErs (DIG)

& fean?
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